
  �����ن                         : ا�����
 ��و�ط                                       ا��دة : ا����وى    
            �����ر ا����� �� ��دة ا�ر�����ت ا                               

 ا��ّ��
� ا
ول  : (04 ن)
  : ا��ب ��ً �ن ا��
�و��ن ا�
�ر��ن ا�ّ�����ن -)1

A=(-5)+(-3)-(+2)-(-1)+(+4).                          
B= (-5+1)-[(-2)+(-3+4)-(-2)]+(-3)  

 )1(أو
د ا��دد ا��
�ول �� ا����واة  -)2
  )1 (          X+ 2 =4.7         

X = -1 و    Y = 7 : �ن أ
ل ) 2(ا,��ر +�* ا����واة   -3  

  )2 (       7 x- y = x – 32            
 ا��ّ��
� ا�����  : (04 ن)

�ل �� �� ���� -أ��     :  أو"! ا��

+x  =      ،    C – 0,9  =  2,45   ،         =          

دج  45دج إ�<  25ار>;: 89. ا�567� 4.ام *( ا��12ط� �� �/.ة  *,+ *( -ب  
�Dا اCر>;�ع          � �E�F�ا� �GHا� IHا�.  

 ا��ّ��
� ا�����  : (04ن)
   ABCDل ��وازي أ�4ع ��2 ا��1ل ا��
�ور

 �ر�وم ��د �رة  
 AC=6cm  ،BAC=36º  ،BCA=54º: ��ث  
  ���ط�ل ؟    ABCD��ن أن ��وازي ا:�4ع   -)1
  ؟   �BDم ��ون   -)2

 �  mو�دة ا�طول ھ�  )  : ن80: (ا�&%$�� ا#د!� �
  ��1ل ا��
�ور ��ون �ن �ر�A و �2@ث ?�<م 

 ���ط pھ� ا����واة ا��� ���ر �ن  �� -)1
*�Bا��1ل �د  x  *2�2ن ��ن ا����و��ت ا��*��D؟  ا  
P=6x+12   ،p=5x+12  ،  p=4x+12 

  p=57 mإذا ��ن ا����ط   xأ��ب  -)2
  ���ط ا��1ل    ��pم ��ون  x=7إذا ��ن  -)3
  و  أ��ب �@G* ا����ج ا�ذي G���3رع  ا���ن -)4

  �رك ���* ا���ب حا�����Gط �I إذا �@�ت أن 
  m 1.5طو���  

  دج  75و�2ن ا���ر ا�وا�د �ن ا����ج ھو  
 m2: أ��ب ����* ا��1ل �ـ  -)5

      A�ا��ر A@4 د�� ��ون طولM�7m 
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